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reg outcome mediator treatment x_1  x_2  

gen ytilde = outcome  - _b[mediator] * mediator  

reg ytilde treatment  x_1  
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program define deboot, rclass 

reg outcome mediator treatment x_1  x_2    

gen ytilde = outcome  - _b[mediator] * mediator   3 

reg ytilde treatment  x_1  

return scalar deffect = _b[treatment] 

end 

 

bootstrap deffect=r(deffect), reps(1000) seed(12345): deboot 
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http://www.simonrquinn.com/research/EthiopiaJobsExperiment.pdf
https://www.csae.ox.ac.uk/researchers/giulio-schinaia

